

County Distribution Detail Report through 11/02/2017

Aurora

Aurora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,298	1,828	0	3,126	\$3,907.50	\$89.50	\$3,818.00	0.70	\$2,672.60
							Entity Tota	ıl:	\$2,672.60
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,672.60
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	4,707	10,603	79	15,389	\$19,236.25	\$420.46	\$18,815.79	0.70	\$13,171.05
							Entity Tota	ıl:	\$13,171.05
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$13,171.05
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	937	1,075	4	2,016	\$2,520.00	\$58.12	\$2,461.88	0.70	\$1,723.32
							Entity Tota	ıl:	\$1,723.32
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$1,723.32
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	2,354	3,718	10	6,082	\$7,602.50	\$152.55	\$7,449.95	0.70	\$5,214.97
							Entity Tota	ıl:	\$5,214.97
							Adjustmen	t:	\$0.00

\$5,214.97

Total Amount:

Brookings

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	11,335	19,273	144	30,752	\$38,440.00	\$819.23	\$37,620.77	0.70	\$26,334.54
							Entity Tot	al:	\$26,334.54
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$26,334.54
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	11,422	24,535	183	36,140	\$45,175.00	\$938.05	\$44,236.95	0.70	\$30,965.87
							Entity Tot	al:	\$30,965.87
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$30,965.87
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	2,858	3,519	7	6,384	\$7,980.00	\$168.94	\$7,811.06	0.70	\$5,467.74
							Entity Tot	al:	\$5,467.74
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,467.74
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	622	383	2	1,007	\$1,258.75	\$26.37	\$1,232.38	0.70	\$862.67
							Entity Tot	al:	\$862.67
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$862.67
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	2,814	5,969	17	8,800	\$11,000.00	\$233.00	\$10,767.00	0.70	\$7,536.90
							Entity Tot	al:	\$7,536.90

							Adjustment:		\$0.00
							Total Amo	unt:	\$7,536.90
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	853	1,394	8	2,255	\$2,818.75	\$56.39	\$2,762.36	0.70	\$1,933.65
							Entity Tota	ıl:	\$1,933.65
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,933.65
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	3,136	4,906	14	8,056	\$10,070.00	\$208.43	\$9,861.57	0.70	\$6,903.10
							Entity Tota	ıl:	\$6,903.10
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,903.10
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	42	2,003	0	2,045	\$2,556.25	\$52.30	\$2,503.95	0.70	\$1,752.77
							Entity Tota	ıl:	\$1,752.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,752.77
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	981	2,306	90	3,377	\$4,221.25	\$102.91	\$4,118.34	0.70	\$2,882.84
							Entity Tota	ıl:	\$2,882.84
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,882.84
City of Sioux Falls, I	Lincoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	5,528	21,084	369	26,981	\$33,726.25	\$768.24	\$32,958.01	0.70	\$23,070.61

							Adjustment:		\$0.00
							Total Amo	unt:	\$23,070.61
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,635	2,338	9	3,982	\$4,977.50	\$104.40	\$4,873.10	0.70	\$3,411.17
							Entity Tota	al:	\$3,411.17
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,411.17
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,948	6,998	47	8,993	\$11,241.25	\$237.18	\$11,004.07	0.70	\$7,702.85
							Entity Tota	al:	\$7,702.85
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,702.85
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	8,244	17,817	134	26,195	\$32,743.75	\$694.05	\$32,049.70	0.70	\$22,434.79
							Entity Tota	al:	\$22,434.79
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$22,434.79
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,400	519	5	1,924	\$2,405.00	\$49.59	\$2,355.41	0.70	\$1,648.79
							Entity Tota	al:	\$1,648.79
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,648.79
Custer									

Entity Total:

\$23,070.61

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
9/2017	3,916	5,035	32	8,983	\$11,228.75	\$256.26	\$10,972.49	0.70	\$7,680.74
							Entity Tota	al:	\$7,686.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,686.87
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
9/2017	6,007	12,990	299	19,296	\$24,120.00	\$515.96	\$23,604.04	0.70	\$16,522.83
							Entity Tota	al:	\$16,523.71
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$16,523.71
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	2,579	3,459	8	6,046	\$7,557.50	\$154.29	\$7,403.21	0.70	\$5,182.25
							Entity Tota	al:	\$5,182.25
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,182.25
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	2,263	2,831	7	5,101	\$6,376.25	\$136.17	\$6,240.08	0.70	\$4,368.06
							Entity Tota	al:	\$4,368.06
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,368.06
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,436	2,074	7	3,517	\$4,396.25	\$91.57	\$4,304.68	0.70	\$3,013.28
							Entity Tota	al:	\$3,013.28

Adjustment: \$0.00

Total Amount: \$3,013.28

Edmunds

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,519	2,743	10	4,272	\$5,340.00	\$107.22	\$5,232.78	0.70	\$3,662.95
							Entity Tot	al:	\$3,662.95
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,662.95
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	3,579	4,076	23	7,678	\$9,597.50	\$193.71	\$9,403.79	0.70	\$6,582.65
							Entity Tot	al:	\$6,582.65
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,582.65
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
9/2017	991	1,389	5	2,385	\$2,981.25	\$66.77	\$2,914.48	0.70	\$2,040.14
							Entity Tot	al:	\$2,046.27
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,046.27
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	2,521	5,068	153	7,742	\$9,677.50	\$215.79	\$9,461.71	0.70	\$6,623.20
							Entity Tot	al:	\$6,623.20
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,623.20

Gregory

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	2,004	3,403	14	5,421	\$6,776.25	\$146.11	\$6,630.14	0.70	\$4,641.10
							Entity Tota	l:	\$4,641.10
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,641.10
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,114	1,362	5	2,481	\$3,101.25	\$62.05	\$3,039.20	0.70	\$2,127.44
							Entity Tota	l:	\$2,127.44
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,127.44
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	2,050	3,469	7	5,526	\$6,907.50	\$139.25	\$6,768.25	0.70	\$4,737.78
							Entity Tota	ıl:	\$4,737.78
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,737.78
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,323	2,667	12	4,002	\$5,002.50	\$102.41	\$4,900.09	0.70	\$3,430.06
							Entity Tota	l:	\$3,430.06
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,430.06
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,069	2,856	21	3,946	\$4,932.50	\$104.84	\$4,827.66	0.70	\$3,379.36
							Entity Tota	l:	\$3,379.36
							Adjustmen	t:	\$0.00

Total Amount:	\$3,379.36
	¥ -, - · · · ·

Harding

9/2017

736

804

1

1,541

\$1,926.25

\$38.79

\$1,887.46

0.70

\$1,321.22

· iai aiiig									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	749	813	1	1,563	\$1,953.75	\$49.25	\$1,904.50	0.70	\$1,333.15
							Entity Tota	al:	\$1,333.15
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,333.15
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	0	0	6	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
9/2017	5,046	14,060	178	19,284	\$24,105.00	\$506.67	\$23,598.33	0.70	\$16,518.83
							Entity Tota	al:	\$16,524.08
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$16,524.08
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	3,465	4,798	41	8,304	\$10,380.00	\$232.81	\$10,147.19	0.70	\$7,103.03
							Entity Tota	al:	\$7,103.03
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,103.03
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	801	1,029	2	1,832	\$2,290.00	\$46.99	\$2,243.01	0.70	\$1,570.11
							Entity Tota	al:	\$1,570.11
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,570.11
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

							Adjustmer	t:	\$0.00
							Total Amo	unt:	\$1,321.22
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,037	1,214	2	2,253	\$2,816.25	\$56.72	\$2,759.53	0.70	\$1,931.67
							Entity Tota	ıl:	\$1,931.67
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,931.67
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	604	636	3	1,243	\$1,553.75	\$31.11	\$1,522.64	0.70	\$1,065.85
							Entity Tota	ıl:	\$1,065.85
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,065.85
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,516	3,851	32	5,399	\$6,748.75	\$142.08	\$6,606.67	0.70	\$4,624.67
							Entity Tota	ıl:	\$4,624.67
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,624.67
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	3,232	9,450	71	12,753	\$15,941.25	\$334.17	\$15,607.08	0.70	\$10,924.96
							Entity Tota	ıl:	\$10,924.96
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$10,924.96
Lawrence									

Entity Total:

\$1,321.22

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	8,709	15,435	153	24,297	\$30,371.25	\$636.52	\$29,734.73	0.70	\$20,814.31
							Entity Tota	al:	\$20,814.31
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$20,814.31
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
9/2017	5,190	20,686	1,251	27,127	\$33,908.75	\$780.39	\$33,128.36	0.70	\$23,189.85
							Entity Tota	al:	\$23,195.98
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$23,195.98
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,387	1,767	0	3,154	\$3,942.50	\$85.05	\$3,857.45	0.70	\$2,700.22
							Entity Tota	al:	\$2,700.22
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,700.22
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	2,126	2,670	32	4,828	\$6,035.00	\$134.49	\$5,900.51	0.70	\$4,130.36
							Entity Tota	al:	\$4,130.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,130.36
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	2,669	4,046	12	6,727	\$8,408.75	\$168.56	\$8,240.19	0.70	\$5,768.13
							Entity Tota	al:	\$5,768.13
							Adjustmer	nt:	\$0.00

Total Amount:	\$5,768.13

Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
pog . oou			Lines			7.4	ge	Percent	,
9/2017	1,180	1,688	1	2,869	\$3,586.25	\$70.80	\$3,515.45	0.70	\$2,460.82
							Entity Tota	ıl:	\$2,460.82
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,460.82
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	4,108	15,830	244	20,182	\$25,227.50	\$539.70	\$24,687.80	0.70	\$17,281.46
							Entity Tota	ıl:	\$17,281.46
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$17,281.46
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	636	800	0	1,436	\$1,795.00	\$35.91	\$1,759.09	0.70	\$1,231.36
							Entity Tota	ıl:	\$1,231.36
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,231.36
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,127	1,521	3	2,651	\$3,313.75	\$66.58	\$3,247.17	0.70	\$2,273.02
							Entity Tota	ıl:	\$2,273.02
							Adjustmen	t:	\$0.00
							Total Amount:		\$2,273.02
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	0	7	0	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13

9/2017	50,540	137,490	1,831	189,861	\$237,326.25	\$4,964.56	\$232,361.69	0.70	\$162,653.18
							Entity Tota	ıl:	\$162,659.31
							Adjustmen	nt:	\$0.00
							Total Amor	unt:	\$162,659.31
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,552	4,315	11	5,878	\$7,347.50	\$172.97	\$7,174.53	0.70	\$5,022.17
							Entity Tota	ıl:	\$5,022.17
							Adjustmen	nt:	\$0.00
							Total Amou	unt:	\$5,022.17
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
9/2017	29,170	69,685	1,252	100,107	\$125,133.75	\$2,685.19	\$122,448.56	0.70	\$85,713.99
							Entity Tota	ıl:	\$85,714.87
							Adjustmen	nt:	\$0.00
							Total Amou	unt:	\$85,714.87
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,909	2,375	6	4,290	\$5,362.50	\$117.08	\$5,245.42	0.70	\$3,671.79
							Entity Tota	ıl:	\$3,671.79
							Adjustmen	nt:	\$0.00
							Total Amor	unt:	\$3,671.79
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	1,517	1,741	4	3,262	\$4,077.50	\$81.64	\$3,995.86	0.70	\$2,797.10
							Entity Tota	ıl:	\$2,797.10
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$2,797.10

Roberts

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	4,183	4,552	10	8,745	\$10,931.25	\$240.62	\$10,690.63	0.70	\$7,483.44
							Entity To	tal:	\$7,483.44
							Adjustme		\$0.00
							Total Am		\$7,483.44
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	981	1,764	0	2,745	\$3,431.25	\$68.65	\$3,362.60	0.70	\$2,353.82
							Entity To	tal:	\$2,353.82
							Adjustme	ent:	\$0.00
							Total Am	ount:	\$2,353.82
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	2,190	4,422	7	6,619	\$8,273.75	\$166.14	\$8,107.61	0.70	\$5,675.33
							Entity To	tal:	\$5,675.33
							Adjustme	ent:	\$0.00
							Total Am	ount:	\$5,675.33
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	818	2,157	13	2,988	\$3,735.00	\$76.41	\$3,658.59	0.70	\$2,561.01
							Entity To	tal:	\$2,561.01
							Adjustme	ent:	\$0.00
							Total Amount:		\$2,561.01
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	874	1,184	1	2,059	\$2,573.75	\$51.56	\$2,522.19	0.70	\$1,765.53
							Entity To	tal:	\$1,765.53

							Adjustment:		\$0.00
							Total Amo	unt:	\$1,765.53
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	0	77	2	79	\$98.75	\$2.52	\$96.23	0.70	\$67.36
							Entity Tota	al:	\$67.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$67.36
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	2,817	3,888	17	6,722	\$8,402.50	\$171.07	\$8,231.43	0.70	\$5,762.00
							Entity Tota	al:	\$5,762.00
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,762.00
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	2,563	5,861	12	8,436	\$10,545.00	\$211.55	\$10,333.45	0.70	\$7,233.42
							Entity Tota	al:	\$7,233.42
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,233.42
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	3,214	9,813	273	13,300	\$16,625.00	\$403.07	\$16,221.93	0.70	\$11,355.35
							Entity Tota	al:	\$11,355.35
							Adjustmer	nt:	\$0.00
							Total Amo	\$11,355.35	
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	2,430	3,432	71	5,933	\$7,416.25	\$149.54	\$7,266.71	0.70	\$5,086.70

Entity Total: \$5,086.70 Adjustment: \$0.00

Total Amount: \$5,086.70

Yankton

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
9/2017	5,956	14,562	79	20,597	\$25,746.25	\$524.54	\$25,221.71	0.70	\$17,655.20
							Entity Tota	ıl:	\$17,655.20
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$17,655.20
Totals	249,517	552,134	7,349	809,000	\$1,011,250.00	\$ 21,515.81	\$ 989,734.19		